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Shape Area m2 Gama W (kg) d{(m Wd
1 2*3*4.513 = 9 2400 21600 1.875 40500
2 0.5*1.56%4. 5= 3.375 2400 8100 35 28350

p= 0.5%45*4.67= 105.08 kN

= P* 4.5/4.67 = 101.25 kN

V= (21600+8100)*9.81/1000 + P*1.5/4.67= 325.1 kN|
M = 67162.5 kg-m = 658.2 kN-m|
M = (40500+28350)/1000*9.81+P*1.5/4.67*(2*1.5/3+3)-P*4.5/4.67*4.5/3
= 658.5 kN-m|
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A 600 0 0 Q@) ¢
B 0 360 270
C 0 320 -510 ( / ]“)
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AB = - 600i +360j +270k 750
AC = - 600i +320j -510k 850
AB Ay Jay =-0.8i +0.48j +0.36 k
AC 455 lay =-0.706 i +0.376 ] -0.6k
P Jax =0 -Pj +0k
Tas =-680i +408 j +306 k
Tac =-0.706 Tac i +0.376Tch -0.6 Tack
TAB +(f,1c +P=
(- 0.706 Tac - 680) i + (0.376 Tac + 408 — P) j + (-0.6 Tac + 306) K
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Tac=306/0.6=510N

P =0.376*510 - 408 =601.7 N
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Cx=Ex,Cy=FEy
0.4Cx =1.2Cy
0.4Cx-0.6Cy—-150=0
Dx =Cx
Dy=Cy
Yolealsls <
Cx = Dx = Ex=750kN

Cy = Dy = Ey = 250kN




